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Corrigé	
  problème	
  15	
  
	
  
	
  

	
  

1.	
  Soit	
  la	
  fonction	
   f 	
  définie	
  sur	
   0,
2
π⎡ ⎤

⎢ ⎥⎣ ⎦
	
  par	
   ( ) sin

2
f t t tπ

= − .	
  

f est	
  deux	
  fois	
  dérivable	
  sur	
   0,
2
π⎡ ⎤

⎢ ⎥⎣ ⎦
	
  et	
   ( )0, , ' cos 1

2 2
t f t tπ π⎡ ⎤∀ ∈ = −⎢ ⎥⎣ ⎦

	
  et	
   ( )" sin
2

f t tπ
= − 	
  

( )0, , " 0
2

t f tπ⎤ ⎡∀ ∈ <⎥ ⎢⎦ ⎣
	
  donc	
   'f 	
  est	
  strictement	
  décroissante	
  sur	
   0,

2
π⎡ ⎤

⎢ ⎥⎣ ⎦
	
  

de	
  plus	
   'f 	
  est	
  continue	
  sur	
   0,
2
π⎡ ⎤

⎢ ⎥⎣ ⎦
	
  ,	
   ( )' 0 1 0

2
f π

= − > et	
   ' 1 0
2

f π⎛ ⎞ = − <⎜ ⎟
⎝ ⎠

	
  donc	
  il	
  existe	
  un	
  

unique	
  réel	
   0,
2
π

α ⎤ ⎡∈⎥ ⎢⎦ ⎣
tel	
  que	
   ( )' 0f α = .	
  

Et	
  on	
  déduit	
  que	
   ( )0, , 0
2

t f tπ⎡ ⎤∀ ∈ ≥⎢ ⎥⎣ ⎦
	
  

	
  

Donc	
   0, , sin
2 2

t t tπ π⎡ ⎤∀ ∈ ≤⎢ ⎥⎣ ⎦
.	
  

	
  
	
  

2.	
   ( ) ( ) ( ) ( )( ) ( ) ( )
2 2 2 2

2 2 2 2 2 2 2
1

0 0 0 0

cos cos cos 1 cos cos sink k k k
k kI I t dt t dt t t dt t t dt

π π π π

+
+− = − = − =∫ ∫ ∫ ∫ 	
  

donc	
   ( ) ( ) ( )
2 22

2 2
1

0

cos sin
4 4

k
k kI I t t dt

π

π π
+

⎛ ⎞
− = ⎜ ⎟

⎝ ⎠
∫ .	
  

	
  

Or	
  
2

2 20, , sin 0 sin
2 2 4

t t t t tπ π π⎡ ⎤∀ ∈ ≥ ≥ ⇒ ≥⎢ ⎥⎣ ⎦
	
  

,	
  donc	
   ( ) ( )
2

2 2 2 20, ,cos sin cos
2 4

k kt t t t tπ π⎡ ⎤∀ ∈ ≥⎢ ⎥⎣ ⎦
	
  

et	
   ( ) ( ) ( ) ( )
2 22 2

2 2 2 2
1

0 0

cos sin cos
4 4

k k
k k kI I t t dt t t dt J

π π

π π
+

⎛ ⎞
− = ≥ =⎜ ⎟

⎝ ⎠
∫ ∫ 	
  

D’autre	
  part	
   .	
  
	
  

D’où	
  finalement	
  :	
   	
  ,0 	
  
	
  
	
  

3.	
   ( )
2

2 2
1

0

cos kkI t dt

π

+
+ = ∫ 	
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on	
  pose	
  :	
  
( ) ( )2 1cos ku t t+= 	
  donc	
   ( ) ( ) ( ) ( )2' 2 1 sin cos ku t k t t= − + 	
  

( ) ( )' cosv t t= 	
  avec	
   ( ) ( )sinv t t= 	
  

u 	
  et	
   v 	
  sont	
  de	
  classe	
   1C 	
  sur	
   0,
2
π⎡ ⎤

⎢ ⎥⎣ ⎦
,	
  donc	
  on	
  peut	
  intégrer	
  	
  u par	
  parties	
  :	
  

( ) ( ) ( ) ( ) ( ) ( ) ( )( ) ( )
2 2

2 1 2 2 2 22
1 0

0 0

sin cos 2 1 sin cos 2 1 1 cos cosk k k
kI t t k t t dt k t t dt

π π
π

+
+ ⎡ ⎤= + + = + −⎣ ⎦ ∫ ∫ 	
  

soit	
   ( )( ) ( ) ( )1 1 12 1 1 2 1 2 1k k k k kI k I I k I k I+ + += + − ⇔ + + = + 	
  	
  
	
  
et	
   	
  	
  
	
  
	
  

4.	
  
2

0
0

1 0
2

I dt

π

π
= = >∫ et	
   	
  	
  donc	
  par	
  une	
  récurrence	
  immédiate	
  on	
  

montre	
  que	
  	
   ,	
  donc	
  

	
  ,0 0 	
  

	
  
	
  

1lim 0
2 2k k→+∞

=
+

	
  donc	
   lim 0k
k

k

J
I→+∞
= 	
  

	
  
	
  

5.	
   ( )
2

2

0

cos k
kI t dt

π

= ∫ 	
  

Pour	
   ,	
  on	
  pose	
  :	
  
( ) ( )2cos ku t t= 	
  donc	
   ( ) ( ) ( )2 1' 2 sin cos ku t k t t−= − 	
  

( )' 1v t = 	
  avec	
   ( )v t t= 	
  

u 	
  et	
   v 	
  sont	
  de	
  classe	
   1C 	
  sur	
   0,
2
π⎡ ⎤

⎢ ⎥⎣ ⎦
,	
  donc	
  on	
  peut	
  intégrer	
  par	
  parties	
  :	
  

( ) ( ) ( ) ( ) ( )
2 2

2 2 1 2 12
0

0 0

cos 2 sin cos 2 sin cosk k k
kI t t k t t t dt k t t t dt

π π
π

− −⎡ ⎤= + =⎣ ⎦ ∫ ∫ 	
  

	
  
	
  
	
  
on	
  pose	
  :	
  	
  
( ) ( ) ( )2 1sin cos ku t t t−= 	
  donc	
   ( ) ( ) ( ) ( ) ( ) ( )2 1 2 2 2' cos cos 2 1 sin cosk ku t t t k t t− −= − − 	
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   ( ) ( ) ( )( ) ( )2 2 2 2cos 2 1 1 cos cosk kt k t t−= − − − 	
  

	
   	
   	
   	
   	
  	
  	
  	
  	
  	
  	
  	
  	
   ( ) ( ) ( )2 2 22 cos 2 1 cosk kk t k t−= − − 	
  

( )' 2v t t= 	
  avec	
   ( ) 2v t t= 	
  

u 	
  et	
   v 	
  sont	
  de	
  classe	
   1C 	
  sur	
   0,
2
π⎡ ⎤

⎢ ⎥⎣ ⎦
,	
  donc	
  on	
  peut	
  intégrer	
  par	
  parties	
  :	
  

( ) ( ) ( ) ( ) ( )
2 2

2 2 1 2 2 2 2 22
0

0 0

sin cos 2 cos 2 1 cosk k k
kI k t t t k t t dt k t t dt

π π
π

− −

⎛ ⎞
⎜ ⎟⎡ ⎤= − + −⎣ ⎦⎜ ⎟
⎜ ⎟
⎝ ⎠

∫ ∫ .	
  

Finalement	
  pour ,	
   ( ) 2
12 1 2k k kI k k J k J−= − − 	
  

	
  
	
  
	
  

6.	
   donc	
   ( ) 2
12 1 2 1k k

k k

k k J k J
I I

−−
− = 	
  

or,	
  d’après	
  la	
  question	
  3,	
   *
1

1

2 1 2 1 2,
2k k

k k

k k kk I I
k I I−

−

− −
∀ ∈ = ⇔ =• 	
  

on	
  obtient	
  alors	
  :	
  
2 2

1

1

2 2 1k k

k k

k J k J
I I

−

−

− = 	
  soit	
  pour ,	
   1
2

1

1
2

k k

k k

J J
I I k

−

−

− = 	
  

	
  

7.	
  
3 32 2

2
0

0 03 24
tJ t dt

π π

π⎡ ⎤
= = =⎢ ⎥

⎣ ⎦
∫ 	
  	
  	
  	
  	
  	
  	
   0 2

I π
= 	
  

	
  
	
  

or	
   lim 0n
n

n

J
I→+∞
= donc	
  

3 2
0

0

2lim 2 2
24 6nn

JS
I

π π
π→+∞

= = × × = 	
  ,	
  	
  

	
  

soit	
  
2

2 2
1 1

1 1lim
6

n

n k kk k
π+∞

→+∞
= =

= =∑ ∑ 	
  

	
  
	
  


